CSMACD-bcl.imi

Generated by IMITATOR 3.4-beta "Cheese Durian"
Build: develop/6908f5d
Generation time: Tue Jan 23, 2024 17:40:32

Initial
3 clocks | 3 parameters
lambda >= 0
& sigma >= 0
x1 lambda & timeslot >= 0
X2 sigma &x1=0
y timeslot &x2=0
&y=0

medium

Init | True

sendl send? endl end?2
y := 0; y:=0;/ y:=0;/ y:=0;

. y >= s1(ie y >= sigma
(Transmlt True/ busvl busy?

sigma >=y

sigma >=y

sendl send?2
y := 0; y := 0;
Collide | sigma >=y

sigma >=y
cd
y:= 0;

endl
x1 := 0;

[Donel 0>= Xl)

lambda = x1

senderl

[Initl

Tru e]

kendl

 J

LTransmitl

lambda >= x1

3*timeslot = x1
busyl
x1 := 0;

(Waitl_S

probl | probl

cd
x1 := 0;
3*timeslot = x1 [/ 2*timeslot = x1
send1 send1 (Collidel 0>= Xl\
x1 := 0; x1 :=0; "

2*timeslot = x1

busyl
x1 := 0;

3*timeslot >= x1 [Waitl_z

2*timeslot >= Xl)

timeslot = x1

busyl

x1 := 0;

(Waitl_l

timeslot = x1
send1

timeslot >= Xl] [Waitl_O

x1 =0
sendl
x1 := 0;

lambda = x2

end?2
x2 := 0;

[DoneZ

0>= XZJ

sender?

[InitZ X2 = o]

x2 =0
send?

[TransmitZ

lambda >= XZ)

3*timeslot = x2 | 2*timeslot = x2

send?
x2 := 0;

3*timeslot = x2
busy?2
x2 := 0;

[Wait2_3

3*timeslot >= x2

cd
x2 := 0;
timeslot = x2 x2 =0
send?2 (CollideZ 0>= XZW send?2 send?2
x2 := 0; S x2 := 0; x2 := 0;
2*timeslot = x2 timeslot = x2 x2 =0
prob?2 | prob2 busy?2 busy?2 prob?2 busy?2
x2 := 0; x2 := 0; x2 := 0;
[Wait2_2 2*timeslot >= xz] (WaitZ_l timeslot >= xz] (WaitZ_O 0 >= xz]




